o(W +2> Njet;jets) [pb]

Ratio to ATLAS

10°

Jé

10*

10?

10

0.5

.7090 Gev Pp

W

—
- . - * #
2t multiplicity ((ETj>20,|r]j|<2.8,ETe>20,|r]e|<2.47 PZnu>25,M >40AR >0%

Rivet 3.1.0, > 5.7M &¥ents

]

u =
B ATLAS ~o N
§_ --0-- Herwig++ 2.7.1 default =
— --f3-- Herwig 7.2.0 default .
| —&— Pythia 8.180 default |
E, | | | [ | | | | | [ | | | | L, N ,E
: T | T T T T | T T T T | T T T T | T T :
| \‘\@\ _

1 1 " | \\I\ 1 1 " 1 " | " 1 1

2 3

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


